E gg% Sgg !Zzt-? ACI series

Z21pY A2
(ISO15552)

ACI series

HAI7|&

=

£3

® ISO15552(7|2 1S06431)E= A2l L|ct

o AN 90jY 122 £H0| 21 27| A5AH0| L5LCt

e EIO|2E7} gl A20|5 Z2MAZ L{AIHO|
L45t0 LEALR|Z| 50| AU0JA F2t0| Ma|FL|Ct

o T RH0| H&g 1 oryAQlL|ct

HA|E
ACl -8 ) (12s)-s(50)-(C)-(CJ-(C)
@D Al2|= @ HEA
ACl ey | DZHHE 22
ACIW ozCy
® 2& 23
@ Z|FA| 2 9|5 S45C(E=R)
B EZY LB LEY A STS304
FA 2LE ZUAY FB HEZ ZUAY B STS420J2
CA 14 2H|AY CB 24 22| AY
CR 20 3UHA A A sczeoey ©E A
TC dEf E2jU 28 KA2 ERfLI2 A 2|5 olutg
TCM2 | Efle 223 H uag
x CR2 CBQ4 SH|A)E BE5522 HEC2 ALE S71FLCH @ HAM2| A
% KA2, TOM2= TC,TA(ER|LR)R B4 E0R THEoR A2 7R T c° —=
7= o
(O A=18 P-| AS) 25m HZA 2HH
32 ?32 100 100 BSJ 50m HRIA| ZHE
40 @40 125 @125
50 @50 160 @160
63 ?63 200 ©200
80 @80
e
T 032 @40 @50 063 ?80 ®100 ?125 2160 ©200
2tz upal =253
ALESA| 371
ACI FA,FB,CA,CB,CR,LB,TC,TA,KA2,TCM2
Z| 22| 2| HA ACIW
ACHAS)BS) FA.FB,TC,TA,KA2, TCM2
e 0.15 ~ 1.0MPa
Ly hed 1.5MPa(15bar)
rees -20 ~ 70C
ABI|AE £ 30 ~500mm/s
YA g2} 0~250 %30 251~1000 *§° 1001~1500 *2°
2HELY 23y 24
e 27 30 | 36 40 50
ZEAO|= 1/8 1/4 | 3/8 172 3/4

- 14 www.kccpr.com



KCC] Kcc Co., Ltd.

AOAAE S (F)

ACl series

Z21pY 4RI
(ISO15552)

ISO15552 Z2m}A Al2iG
W1 32, 40, 50, 63, 80, 100, 125, 160, 200

4713 2E Mo a7

28 oo 74

2cotslcouel ISR 248 238 4 ALt

12|
1

2|5t LEAL|Z| A|Z
2| 230) 2549312
300 JhscH

£20| Sloi

ACIW: ¥2EY ACI-AS), BS): & 2| 24
BEYHE
L HFZAH () Z|HEEAY Z|chAly
32 255075 100 125 175 200 250 300 350 400 450 500 1000 1800
40 255075100 125175 200 250 300 350 400 450 500 600 700 800 1200 1800
50 255075100 125175 200 250 300 350 400 450 500 600 700 800 900 1000 1200 1800
63 255075100 125 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 1800
80 255075100 125 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 1800
100 255075100 125 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 1800
125 255075100 125175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 1800
160 255075 100 125 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
200 255075 100 125 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000

kel 229 A
5 24 uiot2 4 22
6 Fad TPU
7 Es8 L2015 B2
8 22 NBR
9 mAE Y205 &3
10 oAE A NBR
1 4o Uiot=24 22
12 A4 Z2tAE[(@1000]3t) / 12(2 )
ke 229 A 13 £E Etagt
1 zZoHE Etazt/ AB[OI2|AZ 14 | I 2pAA TPU
2 IAE 2C EIAZ(IEZZ) / 2HIQl2|AZ 15 S| =714 L2015 3
3 | 2eAHH Y TPU 16 238 EtAZ/ AE[QI2[AZ
4 ==t L2015 g2

www.kccpr.com



KCC Co., Ltd.

E A Ol Al Al Y B (F) ACI series
mRuy Ml
(ISO15552)
2222 L M2 B
S~ &= 3222 27
ua \\\\ LB FA/FB CA CB CR TC TA KA2 TCM2
?32 F-SI32LB F-SI32FA F-SI32CA F-SI132CB F-SI32CR F-SI32TC F-SI32FTC F-SI32TCM1 | F-SI32TCM2
@40 F-S140LB F-SI40FA F-SI40CA F-SI140CB F-SI40CR F-SI40TC F-SI40FTC F-SI40TCM1 | F-SI40TCM2
@50 F-SI50LB F-SISOFA F-SIS0CA F-SI50CB F-SIS0CR F-SI50TC F-SISOFTC F-SISOTCM1 | F-SIS0TCM?2
263 F-SI63LB F-SI63FA F-SI63CA F-SI63CB F-SI63CR F-SI63TC F-SI63FTC F-SI63TCM1 | F-SI63TCM?2
@80 F-SI80LB F-SIBOFA F-SIBOCA F-SIB0CB F-SIBOCR F-SIBOTC F-SIBOFTC F-SIBOTCM1 | F-SIBOTCM2
?100 F-SI100LB F-SI100FA F-SIT00CA F-SI100CB F-SIT00CR F-SI100TC F-SITO0FTC | F-SIT00TCM1 | F-SI100TCM2
?125 F-SI125LB F-SI125FA F-SIT25CA F-SI125CB F-SI125CR F-SI125TC F-SI125FTC | F-SI125TCM1 | F-SI125TCM2
2160 F-SI160LB F-SIT60FA F-SIT60CA F-SI160CB F-SI1T60CR F-SI1160TC F-SIT60FTC |F-SIT60TCM1 | F-SI160TCM2
©200 F-SI1200LB F-SI200FA F-SI200CA F-SI200CB F-SI200CR F-SI200TC F-SI200FTC | F-SI200TCM1 | F-SI160TCM2
T~ EC ME37
L \\\\ | Y F U
?32 F-M10x125] | F-M10x125Y | F-M10x125F | F-M10x125U
@40 F-M12x1251 | F-M12x125Y | F-M12x125F | F-M12x125U
@50 F-M16x150! | F-M16x150Y | F-M16x150F | F-M16x150U
263 F-M16x1501 | F-M16x150Y | F-M16x150F | F-M16x150U
?80 F-M20x150I | F-M20x150Y | F-M20x150F | F-M20x150U
100 F-M20x150I | F-M20x150Y | F-M20x150F | F-M20x150U
?125 F-M27x200I | F-M27x200Y | F-M27x200F | F-M27x200U
2160 F-M36x200I | F-M36x200Y | F-M36x200F | F-M36x200U
©200 F-M36x200I | F-M36x200Y | F-M36x200F | F-M36x200U
HN|A2| 2
T~ = 3222 37 ME3T
[=1=] \\\\ LB FA FB CA CB CR TC TA KA2 | TCM2 I Y u F
ACI [ ] [ ] [ J [ ] [ ] [ ] [ ] [ ] [ ] [ ] [ ] [ ] [ ] [ J
ACIW [ ) o X X X X o [ ] [ ] [ ] [ ] [ ] [ ] [ J
ACI-ASJ, BSJ [ ] [ ] X X X X [ ] [ ] [ ] [ ] [ ] [ ] [ ] [ J
QUM A 2| A&
~_ &= 2222 37 Metg 3
uz \\\\\ LB FA FB CA CB CR TC TA KA2 | TCM2 | Y U F
@32~»100 O ® ® & & <& & | [ ] [ ) O O ]
?125~@200 O O O ] O O O Oa O [ ) O O O O
0-URO|EEZ / W-FL / O-AHEAZL / O-THEARH / O-E4Z

www.kccpr.com



KCC Co., Ltd

AOAAE S (F)

ACI series

Z21pY 4RI

(ISO15552)
2|+ (ACI 7[E2Y)
A+Stroke
AB AC+Stroke
DA MA AD Cushion AE NA
EA
_fA
—
o I
S e
E/l -
H
2-sides
Tlimm
iz A | AB AC AD AE B D | DA E EA F FA'' M |[MA| H K KAl KB N NA| P PA | PB
@32 1421 48 | 94 |27.5/275 47 | 12 | 29 | M10x1.25| 22 | 17 6 |30 19 | 10 M6 | 16 |32.5] 30 3 [1/8] 13 55
@40 1591 54 1105] 32 | 32 | 53 | 16 | 33 | M12x1.25| 24 | 17 7 35 121 13 /M6 | 17 | 38 | 35 |35 1/4 ] 17 6
@50 1751 69 [106| 31 | 31 | 65| 20| 42 | M1ex1.5 | 32 1 23 | 8 | 40 | 27 | 17 | M8 | 17 |46.5| 40 | 35| 1/4 155 7.5
263 1901 69 [121] 33 | 33 | 7520 | 42 | M16x1.5 | 32 | 23 8 | 45 | 27 |17 'M8 | 17 |56.5| 45 | 4 | 3/8/165 75
280 214186 [ 128 | 33 | 33 | 95 | 25 | 53 | M20x15 | 40 | 26 | 10 | 45 | 33 | 22 |M10| 19 | 72 | 45 | 4 |3/8 165 9
©100 229 91 |138| 37 | 37 |115| 25 | 55 | M20x15 | 40 | 26 | 10 | 55 | 36 | 22 |[M10| 19 | 89 | 55 | 4 | 1/2 |185]| 95
©125 2791119160 | 46 | 46 | 140| 32 | 74 | M27x2.0 | 54 | 41 135/ 60 | 45 | 27 |[M12| 22 |110|, 60 | 4 |1/2| 23 | 14
2160 3321152180 | 50 | 50 | 180| 40 | 94 | M36x2.0 | 72 | 55 | 18 | 65 | 58 | 36 |M16| 30 | 140 | 65 | 4 |3/4| 25 | 15
@200 347 1167180 50 | 50 /220 40 100 M36x2.0 | 72 | 55 | 18 | 75 | 67 | 36 [ M16| 30 175 75 5 13/4) 25| 15
Q| +E(ACIW, FEEF / ACI-XS), @Z 72| ZEH)
ACIW(XZEH) ACI-XS)(>Z7e 2Ed)
AB Aéiii'féﬁ “ AB-+Stroke B Azgirg:reoi: + 23 shoke
on Cushion DA<+ Stroke oA Cushion pB+Stroke+§Zi* stroke
e S = S o B
DB+ & stroke
Cel:mm
ua A AB AB DA DB E FA
ACIW ACI-XS)J
@32 190 188 48 94 29 27 M10x1.25 6
240 213 208 54 105 33 28 M12x1.25 7
@50 244 231 69 106 42 29 M16x1.5 8
263 259 246 69 121 42 29 M16x1.5 8
280 300 2825 86 128 53 | 355 | M20x1.5 10
@100 320 300.5 91 138 55 | 355 | M20x1.5 10
@125 398 366.5 119 | 160 74 | 425 | M27x2.0 13.5
2160 484 458 152 | 180 94 68 M36x2.0 18
©200 514 482 167 | 180 | 100 68 M36x2.0 18
x AALIZE 0 H|UARO| oY 2| e S YL
x BI|%|2] 2 2|5E 72 (AC) 2 SYFLICH

www.kcepr.com



KCC Co., Ltd.

L:: HOl A AR (=) ACI series
0ol Al
D=2y delq
(ISO15552)
Sl A AT
Az E-BEF+
E}o:
ZE3(B) etel:mm
U | A | C | AA| AC  AD | AE | AF | AG | AH | AP | AT
A+S"°kec i ®32 142| 94 | 158 142 8 |47 |32 | 24|32 7 3
+olroke
Ga T _— @40 1159 105|179|161 9 | 53|36 |28 |36 9 | 3
g’ﬂyf“wﬁg a1 L -th @50 | 175 106|190 | 170 | 10 | 65 45 | 32 | 45 9 | 3
A I W - I i
IR RS | @63 190 121 209 185 12 | 75 | 50 | 32 | 50 | 9 | 3
A L]
@) @) 4-0AP L 1 2% @80 | 214|128 248|210 19 | 95 | 63 | 41 | 63 |125| 4
I Il
‘ ‘ ®100| 229 | 138 266|220 | 19 (115 75 | 41 | 71 |145| 4
- AF_] AD| | AG AG| |AD
AE AC+Stroke ®125|279 160 290|250 | 20 1140 90 | 45 | 90 |165 8
AA+Stroke @160 332 | 180 | 340 | 300 | 20 | 180|115 60 | 115|185 8
®200| 347 180 380|320 | 30 220 135| 70 |135| 24 9
FA/FB(S%H2])
A+Stroke
BB C+Stroke 4-08P B¢
|
o)
1 CHelimm
— W | A | C | BA | BB |BC | BD| BE| BF BP T
" A+ Stroke @32 | 142 | 94 (305 10 | 47 | 32 | 80 | 64 7 325
=08 [ 8D C+Stroke BB @40 | 159 | 105 (355 10 | 53 | 36 | 90 | 72 = 9 | 38
@50 | 175 | 106 | 405 12 | 65 | 45 | 108 | 90 = 9 | 465
@63 | 190 | 121 455 12 | 75 | 50 | 118 | 100 9 | 565
e @80 | 214 | 128 (455 16 | 95 | 63 | 150 | 126 | 12.5| 72
®100| 229 | 138 /555 16 | 115 | 75 | 176 | 150 | 14.5 89
®125| 279 | 160 | 60.5 20 | 139 | 90 | 218 | 180 | 16.5| 110
©BA L] ®160| 332 | 180 | 65.5 20 | 180 | 115 | 280 | 230 | 18.5 | 140
®200| 347 | 180 | 75.5| 25 | 220 | 135 | 320 | 270 24 175
CA(14 S2H|A)
A+Stroke
C+Stroke
THRlimm
Wz A C S T DC | DD | DE | DJ | DQ
@32 | 142 | 94 | 47 325| 22 | 9 10 | 13 | 258
@40 | 159 | 105 | 52 | 38 | 25 |105| 12 | 16 | 278
DSJ @50 | 175 | 106 | 64 | 465 27 | 11 | 12 | 17 317
L @63 | 190 | 121 | 74 | 565 32 |135| 16 | 22 397
A~ R DD @80 214 | 128 | 94 | 72 | 36 |145| 16 | 22 | 49.7
L ®100| 229 | 138 | 113 | 89 | 41 | 17 | 20 | 27 | 597
®DE ®125| 279 | 160 | 139 | 110 | 50 | 22 | 25 | 33 | 69.7
®160| 332 | 180 | 180 & 140 = 55 | 30 | 30 | 355  89.7
®200| 347 | 180 | 220 | 175 | 60 | 30 | 30 | 37 | 89.7

www.kccpr.com



CC| KCC Co,, Ltd. |
L H ol Al A B () ACl series
Z2nY A2l
(ISO15552)
CIEEIES-SUESS
24+ Z2{|H|A(CB)
ce RCD
=
. /T
— Rl Et#imm
LA L4 | A | C CC CD|CE|C)|CP|CT PAT|PBT| S | T
= 32 1142194 | 22| 9 | 10 13| 26 | 45 | 51 |45.5 47 |32.5
A+ Stroke ©40 | 159|105 25 [10.5/ 12 | 16 | 28 | 52 | 59 |52.5 52 | 38
C+Stroke CJ_ @50 | 175|106| 27 | 11 | 12|17 | 32 | 60 | 67 |60.5| 64 |46.5
=S ®63 1190|121 32 | 13| 16 22 | 40 | 70 | 77 |70.5 74 |56.5
N ©80 121412836 | 14 16 | 22 | 50 | 90 | 97 90.5| 94 | 72
| ;:'5 ©100/229|138 41 |17.5/ 20 | 27 | 60 110 1191105 113 | 89
M= } 1 ©125/279]160 50 |21.5| 25 | 33 | 70 | 130 1391305 139|110
i ©160 /332|180 55 | 30 | 30 |35.5/ 90 | 170 181 |170.5 180 | 140
©200 347180 60 30 | 30 | 36 | 90 | 170 181 |170.5/ 220 175
HIE) E2{L12(TO) ©el:mm
. oo Wd| Al c| D | F |G| H]| I s | x | T
g? CiStoKe @32 142 94 | 12 | 65 | 52 | 76 | 31 | 47 | 3 |325
2D, @40 | 159 | 105 16 | 75 | 63 | 95 | 31 | 53 | 35 38
i @50 | 175 /106 16 | 91 | 75 | 107 | 35 | 65 | 3.5 465
GJ;T“F{Z« - - e @63 | 190 | 121 | 20 | 103 | 90 | 130 | 35 | 75 | 4 |565
/o ﬁq"’ 3 Zﬁﬁ ‘%’ ii % @80 | 214 | 128 | 20 | 126 | 110 150 45 | 95 | 4 | 72
g,-é’f\v.g;’@ LIS A ©100 229 | 138 | 25 | 145|132 | 182 | 45 | 115 | 4 | 89
D e - ©125 279 | 160 | 25 | 175 | 160 | 210 | 51 | 140 | 4 | 110
0 ©160| 332 | 180 | 32 | 210 | 200 | 264 | 50 | 180 | 4 | 140
©200| 347 | 108 | 32 | 255|250 | 314 | 50 | 220 | 5 | 175
% 160, 200140} = TC7t 2220 210 5|0 o2 2{2| 24 L Mx| S7H
2EE EYLIZ(TA) Sol:mm
< A+S"°kec T oCA Uz A C | AA| B CA | D E F K
®32 142 | 94 | 74 | 50 | 12 | 325 46 | 19 | 10
@40 | 159 | 105 | 95 | 63 | 16 | 38 | 52 | 21 | 10
@50 | 175 106 | 107 = 75 | 16 | 465 | 64 | 26 | 12
@63 | 190 121 | 130 90 | 20 | 565 | 74 | 28 | 12
@80 214 128 150 | 110 | 20 | 72 | 94 | 31 | 16
@100 229 | 138 | 182 | 132 | 25 | 89 | 114 | 35 | 16
@125 279 | 160 | 210 | 160 | 25 | 110 @ 139 | 43 | 20
160 332 | 180 | 264 | 200 | 32 | 140 179 | 56 | 20
©200| 347 | 180 | 314 | 250 | 32 | 175 218 | 64 | 20
E{L2 22| (KA2) Ct2l:mm
aestioke ___ W& (A C|AA| B |CAID E|F |G H|I|J|K|L|/M N
K (C+Stroke)/2 ©32 142/ 94 317254011 9 60 80 65 12| 5 52 64 79 12
@40 159 105| 31| 915 |54| 11 1275|100/ 75 16 8 |63|79|98 16
@50 175106 35 | 99.5|54 | 111275100/ 91|16 | 10| 75 91 110 16
@63 190121/ 35 121.5/ 70 | 11 12/ 85 110/103| 20 | 16 | 90 110 133 20
o @80 (214|128 45 | 133 | 70 110/ 12 85 110|126/ 20 | 20 |110 130 153/ 20
©100 229|138 45 [162.5/ 90 | 19 | 18 |115/155/145| 25 | 28 |132|157|185| 25
©125 279160 51 [177.5/90 | 19 | 18 |115/155/175| 25 | 40 | 160 185|213] 25
©160 332|180/ 50 | 215 |110| 24 | 22 |140 190|210 32 |100|200 232|267 32
©200 347|180 50 |262.5/135| 27 | 22 |150 200|255 32 |125|250 282|317 | 32

www.kcepr.com

B 19



E gg% Egg— !‘g ACI series

Z21pY AR

(ISO15552)
SH3lAC_EHAD
Az -BET+
EejL2 S3(TCM2)
THelimm
A+Stroke
CrSiroke Wz | A|/AA| B C|CAD E F G|H| I | K L M
M @32 (14214 65|94 12| 5 52|68 8 |32 46|11 730
@40 (159 17 | 75105/ 16| 8 | 63 |8 99|36 55|15 9 | 36
P L @50 (17517 191|106 16 | 10 | 75| 94 /11136 | 55|15 9 | 36
ri\ I
f’@mﬂ i | @63 1190205/ 103121120 | 16 | 90 [1135/134| 42 | 65 | 18 | 11 | 40
Lo b !
Ll L } @80 2141205126128 | 20 | 20 | 110 1335/ 154 | 42 | 65 | 18 | 11 | 40
""" = ‘" @100 229 245145138 | 25 | 28 | 1321595/ 184 | 50 | 75 | 20 | 14 | 50
<<
|L | |<( @125|279 1245175160 | 25 | 40 | 160 1875/ 212 50 | 75 | 20 | 14 | 50
\4-OK (@A 79) (C+Stroke)/2
4-OL (HE 79) 160|332 30 | 210180 | 32 | 100|200 | 234 | 264 | 60 | 92 | 26 | 18 | 60
©200| 347 | 30 | 255180 | 32 [ 125|250 | 284 | 314 60 | 92 | 26 | 18 | 60
S2{H|A 2| Z|C{(CR)
A+Stroke

B Zo|m0 | i C+Stroke D

CHelimm
L A | AA B Cc |CC| CD (@] D E F G H | K L
@32 1142 32 | 26 | 94 10| 49 10 | 21 18 | 30 8 38 | 50 | 65 105
@40 | 159 | 36 | 28 | 105 12| 55 12 | 24 1 22 ) 34 | 10 | 41 53 1 6.5 (105
@50 | 175 | 45 | 32 | 106 |12 | 67 13 133 30 44 | 12 | 50 | 46 9 14
@63 | 190 | 50 | 40 | 121 /16| 76 17 | 37 | 35 149 | 12 | 52 | 66 9 14
@80 | 214 | 63 | 50 | 128 | 16| 925 (195 47 | 40 | 59 | 14 | 66 | 85 | 11 17
©100 229 | 71 60 | 138 120|105.5/225| 55 | 50 69 | 15 | 76 | 95 | 11 17
©125,279 | 90 | 70 | 160 |25 134 | 29 | 70 | 60 | 88 | 20 | 94 | 122 |13.5] 20
160 332 | 115 90 | 18 |30 | 171 |255| 97 | 88 | 126 | 25 | 118 | 156 |13.5| 20
©200 347 | 135 90 /1180 |30 185 | 31 |105| 90 | 130 | 30 | 122|162 | 18 | 26

20 www.kccpr.com



KCC Co., Ltd.

L:: H ol A AlHZ (=) ACI series
ol Al
D=0y deld
(ISO15552)
Sl AC_HAD
A+ E-BEFH
1AFHERQIE()
ol
NM O CH2lmm
: Z Wz | NC | ND | NE | NF | NG NH NM
,,L e @32 10 @ 40 | 50 | 15 | 20 M10X1.25 10
n f[f @40 | 12 | 48 | 62 | 24 | 20 M12X1.25 12
W P ‘ ®50 | 16 64 82 32 23 M16X1.5 16
ZA Ik 63| 16 | 64 | 82 | 32 | 23 M16X1.5 16
Zl e @80 20 | 80 | 102 | 40 | 30 M20X15 | 20
(ZD H | i @100| 20 | 80 | 102 | 40 | 30 M20X1.5 20
]
L @125 30 | 110 139 @ 51 | 45 M27X2.0 30
NH/ @160 35 | 144 181 @ 65 | 55 M36X2.0 35
@200 35 | 144 | 181 | 65 | 55 M36X2.0 35
28 HERQIE(Y)
CINA
s PA NM o
| PB == >
1 =
T — j ‘ ]
o ‘ ‘
O
| o< 2a7 [ i ‘ i
‘ 2 Hk
B oo
[T 1 ! | L
OF, NH/
032 @40 ~ 200
Celimm
Lz A B C D F G E H |
?32 52 | 40 | 20 19 | 18 | 25 M10x1.25 10 10
e NA | NC | ND | NP | NQ @ NM NH PA PB
®40 254 | 12 | 48 | 24 | 62 | 12 M12x125 | 324 | 262
@50 32 | 16 | 64 | 32 | 8 | 16 M16x1.5 39 | 328
063 32 | 16 | 64 | 32 | 8 | 16 M16x1.5 39 | 328
?80 444 | 20 | 80 | 40 101 | 20 M20x1.5 534 | 452
®100 444 | 20 | 80 | 40 101 | 20 M20x1.5 534 | 452
®125 54 | 30 | 1170 | 55 | 139 | 30 M27x2.0 | 642 | 548
?160 70 | 35 | 144 | 73 179 | 35 M36x2.0 | 802 | 708
©200 70 | 35 | 144 | 73 179 | 35 M36x2.0 | 802 | 708

www.kcepr.com



